

الف) $\cos 2x = (1 - \sin^2 x) - \sin^2 x = 2\sin^2 x - 1 \rightarrow 2\sin^2 x + 2\sin x - 2 = 0$

$\sin x = -2 \notin \left[-\frac{1}{2}, \frac{1}{2}\right] \rightarrow \sin x = \sin \frac{\pi}{4} \rightarrow \boxed{x = 2k\pi + \frac{\pi}{4} \text{ or } 2k\pi + \frac{5\pi}{4}}$

ب) $\cos^2 x - (1 - \cos^2 x) + \cos x - 2 = 0$

$2\cos^2 x + \cos x - 2 = 0 \rightarrow \cos x = -\frac{1}{2} \notin [-1, 1] \rightarrow \cos x = \cos \frac{2\pi}{3} \rightarrow \boxed{x = 2k\pi + \frac{2\pi}{3} \text{ or } 2k\pi + \frac{4\pi}{3}}$

۱

الف) $\cos 2x = \cos \left(\frac{\pi}{r} - \varepsilon x\right) \rightarrow \cos 2x = -\sin \varepsilon x \rightarrow \cos 2x = \cos \left(\frac{\pi}{r} + \varepsilon x\right)$

$\rightarrow 2x = 2k\pi + \frac{\pi}{r} + \varepsilon x \rightarrow \boxed{x = k\pi - \frac{\pi}{r}}$
 $2x = 2k\pi - \frac{\pi}{r} - \varepsilon x \rightarrow \boxed{x = \frac{k\pi}{r} - \frac{\pi}{1+r}}$

۲

ب) $2\cos^2 x + 2\sin x \cos x = 1 \rightarrow \cos^2 x + 2\sin x \cos x = \sin^2 x \rightarrow \cos^2 x = -\sin^2 x$
 $\cos 2x = \cos \left(\frac{\pi}{r} + \varepsilon x\right) \rightarrow 2x = 2k\pi - \frac{\pi}{r} \rightarrow \boxed{\frac{k\pi}{r} - \frac{\pi}{1+r}}$

الف) $\frac{1}{\sin x} (2\cos^2 x + \cos x - 1) = 0 \rightarrow \sin x \neq 0 \rightarrow \cos^2 x = -\cos x$

$\boxed{x = 2k\pi + \frac{\pi}{r} \text{ or } 2k\pi - \pi}$

۳

ب) $2\sin^2 x - \sin x \cos x + \cos^2 x = 2\sin^2 x + \cos^2 x$

$\cos x (\cos x + \sin x) = 0 \rightarrow \cos x = 0 \rightarrow \boxed{x = 2k\pi + \frac{\pi}{2} \text{ or } 2k\pi + \frac{3\pi}{2}}$

$\rightarrow \cos x = -\sin x \rightarrow \cos x = \cos \left(\frac{\pi}{r} + \varepsilon x\right) \rightarrow 2x = 2k\pi - \frac{\pi}{r} \rightarrow \boxed{k\pi - \frac{\pi}{r}}$

الف) $\cos \left(\frac{\pi}{r} + x - \frac{\pi}{r}\right) \cos \left(x - \frac{\pi}{r}\right) = \frac{1}{\varepsilon} \rightarrow -\sin \left(2x - \frac{\pi}{r}\right) = \sin \left(\frac{\pi}{r} - 2x\right)$

$\cos 2x = \frac{1}{r} \rightarrow \cos 2x = \cos \frac{\pi}{r} \rightarrow \boxed{2x = 2k\pi + \frac{\pi}{r} \text{ or } 2k\pi - \frac{\pi}{r}}$

ب) $\cos \left(2x - \frac{\pi}{r}\right) = \sin -2x$
 $\downarrow$
 $\cos \left(\frac{\pi}{r} + 2x\right) \rightarrow 2k\pi - \frac{\pi}{r} - 2x = \frac{\pi}{r} - 2x \rightarrow \boxed{x = \frac{k\pi}{r} - \frac{\pi}{2r}}$

۴

$\frac{2\sin^2 x \cos 2x + \sin^2 x}{\sin 2x} = 2\cos^2 x + 1 - \frac{\sin^2 x}{\cos^2 x} = \cos^2 x \rightarrow 2\cos^2 x = 0$

$\cos 2x = 0 \rightarrow 2x = 2k\pi + \frac{\pi}{2} \rightarrow x = k\pi + \frac{\pi}{4}$

$\sin 2x \neq 0 \rightarrow$ هیچ وقت به ازای هر یک از این مقادیر صفر نمی شود $\rightarrow 2x = 2k\pi \pm \frac{\pi}{2} \rightarrow \boxed{x = k\pi \pm \frac{\pi}{4}}$

$\boxed{x = \frac{k\pi}{r} + \frac{\pi}{r}}$

۵

$$\frac{\sin \frac{x}{r}}{1 + \cos \frac{x}{r}} = \frac{1 + \cos \frac{x}{r}}{\sin \frac{x}{r}} \rightarrow (1 + \cos \frac{x}{r})^2 = \sin^2 \frac{x}{r} \rightarrow \cos^2 \frac{x}{r} + \cos \frac{x}{r} = 0$$

$$\sin \frac{x}{r} \neq 0 \rightarrow \frac{x}{r} = r\pi + \frac{\pi}{r} \quad (1) \rightarrow x = r^2\pi + \pi$$

$$\cos \frac{x}{r} (\cos \frac{x}{r} + 1) = 0 \rightarrow \frac{x}{r} = r\pi + \pi \quad (2) \rightarrow x = r^2\pi + r\pi$$

$$x = -\pi, \pi \rightarrow \pi - (-\pi) = 2\pi \rightarrow x = r^2\pi + \pi$$

$$-\sin^2 x \cos^2 x = 1 - \cos^2 x \rightarrow \sin^2 x (1 + \cos^2 x) = 0 \rightarrow \sin x = 0$$

$$\cos^2 x = \cos x \rightarrow x = r\pi + \pi \rightarrow x = \left(\frac{r+1}{r}\right)\pi$$

$$k\pi: \quad \begin{cases} x = r\pi \\ x = r\pi + \pi \end{cases} \rightarrow x = k\pi$$

$$\bullet, k, r\pi$$

$$\left(\frac{r+1}{r}\right)\pi: \quad \frac{\pi}{r}, \pi, \frac{2\pi}{r}$$

جواب: ω

$$\frac{\cos x - \sin x}{\cos x + \sin x} = \frac{\sin^2 x}{\cos^2 x} \rightarrow \cos^2 x \cos x - \sin^2 x \sin x = \sin^2 x \cos x + \cos^2 x \sin x$$

$$\cos^2 x = \sin^2 x$$

$$\cos\left(\frac{\pi}{2} - x\right)$$

$$x = \frac{k\pi}{2} + \frac{\pi}{12}$$

$$\sqrt{1 + \sin x} = \sin x + \cos x \rightarrow \sin x + \cos x = \sqrt{2} \sin\left(\frac{\pi}{4} + x\right) = \sqrt{2} \cos^2 x$$

$$\cos\left(\frac{r\pi}{2} + x\right) = \cos^2 x \rightarrow r\pi + \frac{r\pi}{2} = x \rightarrow x = \frac{r\pi}{2}$$

$$r\pi - \frac{r\pi}{2} = r\pi \rightarrow \frac{r\pi}{2} - \frac{\pi}{2} = x \rightarrow x = \frac{\pi}{2}$$

$$x = \frac{r\pi}{2}, \frac{\pi}{2} \rightarrow \text{جواب}$$

$$\text{ا) } -\cos^2 x = \cos x \rightarrow \cos(x - r\pi) = \cos 0 \rightarrow r\pi = x - r\pi \rightarrow x = k\pi + \frac{\pi}{r}$$

$$\hookrightarrow \frac{\pi}{r}, \frac{2\pi}{r} \rightarrow \text{جواب}$$

$$\text{ب) } \sin^2 x - \cos^2 x = -1 \rightarrow \sin^2 x = 1 \wedge \cos^2 x = 0$$

$$\bullet, \frac{r\pi}{2}, r\pi \rightarrow \text{جواب}$$

